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CS-2524

M.Com. (Semester-II) Examination, 2015

APPLIED ECONOMICS

(Accounting for Financial Decision)

Time Allowed : Three Hours ] [ Maximum Marks  70

Note : Answer five questions in all. Question No.

1 is compulsory. Attempt one question

from each unit.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb. 1 DeefveJeeÙe& nw~
ØelÙeskeâ FkeâeF& mes Skeâ ØeMve keâerefpeS~

1. Answer/solve the following questions:

efvecveefueefKele ØeMveeW kesâ Gòej oerefpeS/nue keâerefpeS: 3×10=30

(a) Explain operating cycle.

heefjÛeeueve Ûe›eâ keâes mecePeeFS~
(b) What is meant by inventory?

Skeâ JÙeJemeeÙe ceW jnefleÙee mes keäÙee leelheÙe& nw?
(c) Distinguish between overdraft and cash

credit.

DeefOeefJekeâ<e& leLee vekeâo meeKe ceW Devlej mhe° keâerefpeS~
(d) Write any four determinants of dividend

policy.

ueeYeebMe veerefle kesâ keâesF& Ûeej efveOee&jkeâ lelJeeW keâes efueefKeS~
(e) Write the four items of cash flow from

financing activities.

efJeòeerÙe ieefleefJeefOeÙeeW mes jeskeâÌ[ ØeJeen mecyevOeer Ûeej ceoeW
keâe GuuesKe keâerefpeS~
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Deefleefjòeâ metÛeveeSB
(a) hetefle&keâlee&DeeW Éeje Øeoòe GOeej DeJeefOe-oes ceen
(b) efJe›eâÙe keâe 25 ØeefleMele vekeâo leLee «eenkeâeW keâes Øeoòe

GOeej efJe›eâÙe DeJeefOe- Skeâ ceen
(c) cepeotjer Je JÙeÙe kesâ Yegieleeve ceW efJeuecye-Skeâ ceen
(d) petve, 2015 ceW 25,000 ®. keâe DeeÙe keâj keâe Yegieleeve

nesvee nw~
7. What are the basic objectives of receivables

management? Explain the cost and benefit of

high level of receivables. 10

ØeehÙeeW kesâ ØeyevOeve kesâ DeeOeejYetle GösMÙe keäÙee nQ? Ùeefo ØeehÙeeW keâer
cee$ee DeefOekeâ neW, lees Gmekesâ ueeYe leLee ueeiele keäÙee neWies~

Unit-IV  / FkeâeF&-IV

8. In a company the EPS is Rs.10. The cost of

capital is expected to be 10%, The rate of

return on investment is 12%. Compute the

value of a company's shares using Gordon's

Model under each of the following retention

ratios : 10

(i) 20% (ii) 40% (iii) 50% (iv) 60% and (v) 80%.

Skeâ keâcheveer ceW Øeefle DebMe Depe&ve ®. 10 nw~ hetbpeer ueeiele 10 ØeefleMele
nesves keâer mecYeeJevee nw~ efveJesMe hej efjšve& keâer oj 12 ØeefleMele nw~ iees[ve&
cee@[ue kesâ DeeOeeje hej efvecve efjšsvmeve DevegheeleeW (retention ratio)

ceW keâcheveer kesâ DebMe kesâ cetuÙe keâer ieCevee keâerefpeS :
(i) 20% (ii) 40% (iii) 50% (iv) 60% leLee (v) 80%.

9. What do you understand by dividend? Explain

the desirability of a stable dividend policy of a

company. Why do investors prefer cash divi-

dend over stock dividend? 10

ueeYeebMe mes Deehe keäÙee mecePeles nQ? Skeâ keâcheveer kesâ efmLej ueeYeebMe
veerefle keâer JeebÚveerÙelee keâes mecePeeFS~ efveJesMekeâ mše@keâ ueeYeebMe
keâer Dehes#ee vekeâo ueeYeebMe keâes keäÙeeW hemevo keâjles nQ?
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(f) Explain ABC analysis with example.

S.yeer.meer. efJeMues<eCe keâes GoenjCe meefnle mecePeeFS~
(g) Calculate Gross Profit Ratio from the fol-

lowing information :

Sales Rs. 5,00,000

Sales return Rs. 50,000

Closing stock Rs. 35,000

Opening stock Rs. 70,000

Purchases Rs. 3,50,000

efvecve metÛeveeDeeW mes mekeâue ueeYe Devegheele keâer ieCevee keâerefpeS-
efJe›eâÙe 5,00,000 ®.
efJe›eâÙe Jeehemeer 50,000 ®.
Deefvlece jnefleÙee 35,000 ®.
ØeejefcYekeâ jnefleÙee 70,000 ®.
›eâÙe 3,50,000 ®.

(h) In a firm, the following information is avail-

able :

Annual requirement of inventory 40,000 units

Cost of material per unit Rs. 16

Carrying cost 15% of Cost of material

Ordering cost Rs. 480 per order

(i) Calculate EOQ on the basis of above informa-

tion

(ii) State how many orders will be given by the

firm

Skeâ Heâce& kesâ mecyevOe ceW efvecve metÛeveeSb GheueyOe nQ :
jnefleÙee keâer Jeeef<e&keâ DeeJeMÙekeâlee 40,000 FkeâeF&Ùeeb
Øeefle FkeâeF& meece«eer keâer ueeiele 16 ®.
jKejKeeJe keâer ueeiele meece«eer ueeiele keâe 15 ØeefleMele
DeeosefMele ueeiele 480 ®. Øeefle DeeosMe

(i) Ghejesòeâ metÛeveeDeeW kesâ DeeOeej hej EOQ  keâer ieCevee

respect of three months from April to June

2015, from the information given below :

Months Sales Purchase Wages Expenses

(Rs.) (Rs.) (Rs.) (Rs.)

February 70,000 40,000 8,000 6,000

March 80,000 50,000 8,000 7,000

April 92,000 52,000 9,000 7,000

May 1,00,000 60,000 10,000 8,000

June 1,20,000 55,000 12,000 9,000

Additional information :

(a) Period of credit allowed by suppliers : two

months.

(b) 25% of sale is for cash and the period of

credit allowed to customer for credit sale

: one month.

(c) Delay in payment of wages & expenses :

: one months

(d) Income tax : Rs. 25,000 is to be paid in

June 2015 10

Skeâ keâcheveer 1, DeØewue, 2015, keâes 25,000 ®. vekeâo keâer DeeMee
jKeleer nw Deewj Deehekeâes efvecve metÛeveeDeeW mes leerve ceen-DeØewue mes
petve, 2015 kesâ efueS Devegceeefvele vekeâo efmLeefle (kewâMe yepeš)
lewÙeej keâjvee nw :
ceen efJe›eâÙe ›eâÙe cepeotjer JÙeÙe

(®.) (®.) (®.) (®.)
HeâjJejer 70,000 40,000 8,000 6,000

ceeÛe& 80,000 50,000 8,000 7,000

DeØewue 92,000 52,000 9,000 7,000

ceF& 1,00,000 60,000 10,000 8,000

petve 1,20,000 55,000 12,000 9,000
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Liabilities 31-03-13 31-03-14 Assets 31-03-13 31-03-14

Amount Amount Amount Amount

(Rs.) (Rs.) (Rs.) (Rs.)

Equity share 3,00,000 5,00,000 Goodwill 40,000 30,000

capital

Reserve 50,000 75,000 Land & 3,00,000 5,00,000

Profit & 90,000 1,20,000 Buildings

Loss A/c             Plant & Machinery 150,00 2,00,000

10% Deben- - 50,000 Stock 60,000 90,000

tures

Creditors 1,10,000 70,000 Debtors 50,000 30,000

Bills payable 10,000 25,000 Cash 10,000 25,000

Provision 50,000 35,000

for tax

6,10,000 8,75,000 6,10,000 8,75,000

Additional information :

(i) During the year 2013-14 the company

paid  Equity Dividend of Rs. 45,000

(ii) The Company provided Depreciation @

10% on Land & Buildings and 15% on

Plant & machinery.

(iii) The company paid tax amounting to Rs.

40,000 on the basis of above informa-

tion, prepare a funds flow statement.

S.yeer.meer. efue. keâe Je<e& 2014 keâe DeeefLe&keâ efÛeªe veerÛes efoÙee nw-

of Rs.100 each and rest in term loan.

(vi) 50% of total assets are fixed assets.

(vii) Investments are 60% of fixed assets.

(viii) Current ratio     3

(ix) 50% of current assets are inventories

(x) 30% of current assets are receivables &

20% are cash.

efvecve metÛeveeDeeW kesâ DeeOeej hej Skeâ keâcheveer keâe Jeeef<e&keâ efÛeªe
yeveeFS :
(i) hetCe& Øeoòe DebMe he$eeW keâer meb. 10,000
(ii) Øeefle DebMe keâe Debefkeâle cetuÙe ®. 25
(iii) Øeefle DebMe uesKee cetuÙe ®. 50
(iv) $e+Ce/hetbpeer Devegheele 2
(v) kegâue $e+Ce ceW 500 $e+Ce-he$e ®. 100 kesâ nw Je Mes<e DeJeefOe

$e+Ce nQ~
(vi) kegâue mecheefòe keâe 50 ØeefleMele efmLele mecheefòe nw~
(vii) efmLej mecheefòe keâe 60 ØeefleMele efJeefveÙeesie nw~
(viii) Ûeeuet Devegheele    3
(ix) Ûeeuet mecheefòe keâe 50 ØeefleMele jnefleÙee nw~
(x) Ûeeuet mecheefòe keâe 30 ØeefleMele ØeehÙe Je 20 ØeefleMele veieoer nw~

3. What is financial ratio analysis? Describe the

important ratios for measuring profitability, li-

quidity and financial soundness of a business

firm. 10

efJeòeerÙe Devegheele efJeMues<eCe keäÙee nw? Skeâ JÙeeJemeeefÙekeâ Heâce& keâer
ueeYeoeÙekeâlee, lejuelee leLee efJeòeerÙe megÂÌ{lee keâer ceehe keâjves nsleg
cenlJehetCe& DevegheeleeW keâer mecePeeFS~

Unit-II/ FkeâeF&-II

4. Given below is the Balance sheet of ABC Ltd.

for the year 2014 : 10

Balance sheet as on March 31, 2014
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(6) (3)

31 ceeÛe& 2014 keâe DeeefLe&keâ efÛeªe
oeefÙelJe 31-03-13 31-03-14 mecheefòe 31-03-13 31-03-14

OevejeefMe OevejeefMe OevejeefMe OevejeefMe
(®.) (®.) (®.) (®.)

mecelee DebMe hetbpeer 3,00,000 5,00,000 KÙeeefle 40,000 30,000

keâes<e 50,000 75,000 Yetefce Je 3,00,000 5,00,000

ueeYe Je neefve Keelee 90,000 1,20,000  YeJeve
10% $e+Cehe$e - 50,000  Ùeb$e Je 150,000 2,00,000

uesveoej 1,10,000 70,000 ceMeervejer
osÙe efJehe$e 10,000 25,000 mšekeâ 60,000 90,000

keâj keâe ØeeJeOeeve 50,000 35,000 osveoej 50,000 30,000

vekeâo 10,000 25,000

6,10,000 8,75,000 6,10,000 8,75,000

Deefleefjòeâ metÛeveeSB :
(i) keâcheveer ves mecelee ueeYeebMe keâe 45,000 ®. keâe Yegieleeve

Je<e& 2013-14 kesâ oewjeve efkeâÙee~
(ii) keâcheveer ves Yetefce Je YeJeve hej 10 ØeefleMele leLee Ùeb$e Je ceMeervejer

hej 15 ØeefleMele keâer oj mes Üeme keâe ØeeJeOeeve efkeâÙee~
(iii) keâcheveer ves 40,000 ®. kesâ keâj keâe Yegieleeve efkeâÙee~
Ghejesòeâ metÛeveeDeeW kesâ DeeOeej hej keâes<e ØeJeen efJeJejCe keâes yeveeFS~

5. Explain the main objectives of Inventory man-

agement. What are the different types of in-

ventory? How can we decide the ideal level of

inventory in a company. 10

jnefleÙee ØeyevOeve kesâ ØecegKe GösMÙeeW keâes mecePeeFS~ efJeefYeVe Øekeâej
kesâ jnefleÙee keâewve mes nQ? Skeâ keâcheveer ceW jnefleÙee kesâ DeeoMe& mlej
keâe efveOee&jCe kewâmes keâj mekeâles nQ?

Unit-III  /  FkeâeF&-III

6. A company is expecting to have Rs. 25,000

cash in hand on 1st April 2015 and it requires

you to prepare an estimate of cash position in

keâerefpeS~
(ii) mhe° keâerefpeS efkeâ Skeâ Je<e& ceW Heâce& Éeje efkeâleves

›eâÙe nesieW~
(i) Find out operating ratio from the follow-

ing information :

Gross Profit Rs. 2,00,000

Office & administrative Rs.30,000

Expenses

Selling & distribution Expenses Rs. 20,000

Sales Rs.6,00,000

Sales return Rs. 20,000

efvecveefueefKele metÛeveeDeeW mes heefjÛeeueve Devegheele %eele keâerefpeS-
mekeâue ueeYe 2,00,000 ®.
keâeÙee&ueÙe Je ØeMeemeefvekeâ JÙeÙe 30,000 ®.
efJe›eâÙe Je efJelejCe JÙeÙe 20,000 ®.
efJe›eâÙe 6,00,000 ®.
efJe›eâÙe Jeehemeer 20,000 ®.

(j) If K=15%, r = 10% and EPS=Rs.10, Find

the price of share by WALTER MODEL if

payout ratio is 60%.

Ùeefo K=15%, r = 10% leLee EPS=Rs.10 ®.
lees 60% kesâ ueeYeebMe osÙe Devegheele hej Jeeušj cee@[ue kesâ
DeeOeej hej Skeâ DebMe keâe cetuÙe %eele keâerefpeS~

Unit-I  / FkeâeF&-I
2. On the basis of the following information con-

struct the Balance Sheet of a Company : 10

(i) No. of paid up equity shares 10,000

(ii) Face value per share Rs.25

(iii) Book value per share Rs. 50

(iv) Debt/Equity ratio 2

(v) Debt consists of 500 bonds


